
  38  x  7  =  (30  x  7)  +  (8  x  7) 
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10  x  7  =  70 

10  x  7  =  70 

 

 8  x  7  =  56 

 

70  +  70  +  70  +  56  =  210  +  56 

=  266 
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neu 
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neu 
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346  x  9  =  3114    9  x  346  = 3114 

 

3114 ÷ 346  =  9    3114  ÷  9  =  346 
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6 lluosi 9 yw 54 
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2  x  10 

5  x  10 
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neu  
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5  x  10  x  7 

neu 

5  x  7  x  10 

6  x  7 

56  x  27  =  1512    27  x  56  = 1512 

 

1512 ÷ 56  =  27    1512  ÷  27  = 56 
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56 x 27 = (56 x 20) + (56 x 7) 

 

 56 x 20   = (56 x 10 ) + (56 x 10) 

        = 560 + 560 = 1120 

 

 56 x 7 = (50 x 7) = (6 x7) 

       = (5 x 10 x 7) + (6 x 7) 

    = (5 x 7 x 10) + (6 x 7) 

    = 350 + 42 = 392 
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neu 
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2 x 10 x 5 

neu  

2 x 5 x 10 

4 x 5 

 

2 x 10 x 3 x 10 

neu  

2 x 3 x 10 x 10 

4 x 2 x 100 

neu 
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235  x  24  =  5640       24  x  235  = 5640 

 

5640 ÷ 235  =  24     5640  ÷  24  =  235 
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 1 2 . 0 

 1 4 . 7 

x 4 0.9 

3 12 2.7 

9  ÷  10 

3  x  4 

(3  x  9)  ÷  10 

 

4.9  x  3  =  14.7   3  x  4.9  =  14.7 

 

14.7 ÷ 4.9  =  3  14.7  ÷  3  =  4.9 
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neu 
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(3  x  2)  ÷  100 

neu 

(3  x  2)  ÷  10  ÷  10 

(3  x  8)  ÷  10 3  x  5 

5.82  x  3  =  17.46      3  x  5.82  =  17.46 

 

17.46 ÷ 5.82  =  3       17.46  ÷  3  =  5.82 
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adio’r 2 wedi ei 

‘gario’ yw 17 
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x    4 

 0 . 0 4 

 2 . 0 0 

 8 . 0 0 

4 0 . 0 0 

5 0 . 0 4 

x 10 2 0.5 0.01 

4 40 8 2.0 0.04 

1  ÷  100 

neu 
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5  ÷  10 
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neu 
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4  x  2 4  x  10 

(4  x  5)  ÷  10 

12.51  x  4  =  50.04     4  x  12.51  = 50.04 

 

50.04 ÷ 12.51  =  4   50.04  ÷  4  = 12.51 
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10 wedi ei 
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